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MATHS

BOOKS - NIKITA MATHS (HINGLISH)

APPLICATION OF DEFINITEINTEGRAL

Multiple Choice Questions Mcq

1. The area bounded by the line y = x, X-axis

and the lines x=-1,x=2 s


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S0TVjO0f2HBN

A. —sq. units
9 q

B. —sq. units
9 q

C. —sq. units

3

D. —sq. units

3

Answer: a

o Watch Video Solution

2. The area bounded by the curve y = 23, X-

axis and the lines x=1,x=3is


https://dl.doubtnut.com/l/_S0TVjO0f2HBN
https://dl.doubtnut.com/l/_2I0QhktI0J2q

A. 5 sq. units

B. 10 sq. units

C. 20 sq. units

D. 40 sqg. units

Answer: C

o Watch Video Solution

3. The area bounded by the curve y = z*, X-

axis and the lines x=1,x=5 s


https://dl.doubtnut.com/l/_2I0QhktI0J2q
https://dl.doubtnut.com/l/_LvAz3Nz3br6h

3124

$q. units

3126

sq. units

624 ,
C. qu. units

626 _
D. ?sq. units

Answer: a

o Watch Video Solution

4. The area bounded by the curve
2 2 . .
Yy = (ac + 2) + 2z, X-axis and the lines x = 0,

X=21s


https://dl.doubtnut.com/l/_LvAz3Nz3br6h
https://dl.doubtnut.com/l/_qhmwh4J8GvVS

A@s units
T q.

436 :
B. qu. units

c 218 "
T sq. units

218

D. ——sq. units
5 q

Answer: a

o Watch Video Solution

5. Find the area of the region bounde by the

curve y = /16 — z? | the X - axis and the

linesxz = 0,z = 4.


https://dl.doubtnut.com/l/_qhmwh4J8GvVS
https://dl.doubtnut.com/l/_Ixr0nNkLkgSL

A. sq. units

B. 4msq. units

C. 2wsq. units

D. 8msq. units

Answer: b

° Watch Video Solution

6. The area bounded by the loop of the curve

y* = 2%(1 —x)is


https://dl.doubtnut.com/l/_Ixr0nNkLkgSL
https://dl.doubtnut.com/l/_SrcaTgOidd4E

2
A. 5 $q. units

B. —sq. units
5 q
C. 1—53q. units

D. 1—53q. units

Answer: d

o Watch Video Solution

7. The area bounded by the curve zy = ¢, X-

axis and the lines x=¢,x=2c is


https://dl.doubtnut.com/l/_SrcaTgOidd4E
https://dl.doubtnut.com/l/_ZsNXczvU0xeS

A.log 2 sq. units
B. clog 2 sq. units
C.c% log 2 sq. units

D. 2c log 2 sq. units

Answer: c

o Watch Video Solution

8. Find the area of the region bounded by the

s s

curve y = sinz, the lines ¢ = — ST =75

and X- axis.


https://dl.doubtnut.com/l/_ZsNXczvU0xeS
https://dl.doubtnut.com/l/_LKqcYpeNxZa9

A. 0 sg. units

B. 1sqg. units

C. —1sq. units

D. 2 sq@. units

Answer: D

o Watch Video Solution

9. Find the area of the region bounded by the

curve y = sinx between x = 0 and x = 2.


https://dl.doubtnut.com/l/_LKqcYpeNxZa9
https://dl.doubtnut.com/l/_QBcEBWptNhYv

A. 2 sqg. units

B. 4 sq. units

C. 8 sqg. units

D. 16 sqg. units

Answer: b

o Watch Video Solution

10.x=0Ud z =27 S ALY dcb y = cosz A ¥

&1 &1 &hel STd HIfTT |


https://dl.doubtnut.com/l/_QBcEBWptNhYv
https://dl.doubtnut.com/l/_QCZTxVNhl9MA

A. 2 sqg. units

B. 4 sq. units

C. 8 sqg. units

D. 16 sqg. units

Answer: b

o Watch Video Solution

1. The area bounded by the curve

m
y=sinz,0<z < 5> X axis and the line
T
r = —is
2


https://dl.doubtnut.com/l/_QCZTxVNhl9MA
https://dl.doubtnut.com/l/_8DTtk5IDSxaW

T :
A. qu. units

7T .
B. Esq. units

3 _
C. 73(1. units

31 ,
D. — sq. unats

4

Answer: A

o Watch Video Solution

12. Find the area of the region bounded by the

curve y = sinx between x = 0 and x = 2.


https://dl.doubtnut.com/l/_8DTtk5IDSxaW
https://dl.doubtnut.com/l/_kWYGRQVpVwyI

A.O

B. 2msq. units

C. msq. units

D. 4msq. units

Answer: d

° Watch Video Solution

13. The area bounded by the curve y = log x, X-

axis and the ordinates x=1,x=2is


https://dl.doubtnut.com/l/_kWYGRQVpVwyI
https://dl.doubtnut.com/l/_wLRStetPGGao

A.log 4 sqg. units

B.log 2 sqg. units

C.(log 4 - 1) sq. units

D. (log 4 + 1) sq. units

Answer: c

o Watch Video Solution

14. The area enclosed between the curve

y = log, (x + e) and the coordinate axes is


https://dl.doubtnut.com/l/_wLRStetPGGao
https://dl.doubtnut.com/l/_JraCH3ZzQ53X

A. 3 sq. units

B. 4 sq. units

C. 2 sqg. units

D. 1sqg. units

Answer: D

o Watch Video Solution

15. Examples: Find the area bounded by the

parabola y* = 4az and its latus rectum.


https://dl.doubtnut.com/l/_JraCH3ZzQ53X
https://dl.doubtnut.com/l/_ocqOFGzfXRx0

4a? ,
A. qu. unaits

8a? ,
B. qu. unaits

4a+/a

C. sq. units
3 q
8a+/a
D. va sq. units
3
Answer: b

o Watch Video Solution

16. The area bounded by the curve y* = 16z

and the linex=4is


https://dl.doubtnut.com/l/_ocqOFGzfXRx0
https://dl.doubtnut.com/l/_OFLkGvP2xTme

128 _
A. qu. units

64 :
B. —sq. units

3

32 ,
C. —sgq, unats

3
16

D. —sq. units

3

Answer: a

o Watch Video Solution

17. The area bounded by the curve y* = 14z

and the lines x =1, x =4 above X-axis is


https://dl.doubtnut.com/l/_OFLkGvP2xTme
https://dl.doubtnut.com/l/_4fPBWJ8kLJJE

A. —sq. units
3 q

14 :
B. —sq. units

3

28 ,
C. —sq. unats

3
56

D. —sq. units

3

Answer: C

o Watch Video Solution

18. The area bounded by the curve y = z?, X-

axis and the lines x=1,x=3is


https://dl.doubtnut.com/l/_4fPBWJ8kLJJE
https://dl.doubtnut.com/l/_SHCXMig6TjIq

26 ,
A. —sq. units

3
28 ,
B. —sq. units
3
C . 1t
. —8q. units
3 q
D. 9 sq@. units
Answer: a

o Watch Video Solution

19. The area bounded by the parabola y = 4z

, Y-axis and the linesy=2,y=4is


https://dl.doubtnut.com/l/_SHCXMig6TjIq
https://dl.doubtnut.com/l/_4G3OUpz8t3BI

A. $q. units
8 — /2
B. V2 sq. units
3
4 — 24/2
C. V2 $q. units
3
8 — 24/2
D. V2 $q. units
3
Answer: d

o Watch Video Solution

20. Find the area of the region bounded by the

curve y = 2 and the line y = 4.


https://dl.doubtnut.com/l/_4G3OUpz8t3BI
https://dl.doubtnut.com/l/_Hry6HbhZ7bGd

16 ,
A. —sq. units

3

32 ,
B. —sq. units

3
16+/2
3
32+/2
3

C.

$q. units

D. $q. units

Answer: b

o Watch Video Solution

2. Find the area under the curve

y = v/6x + 4 (above the z-axis) from =z =0

tox =2


https://dl.doubtnut.com/l/_Hry6HbhZ7bGd
https://dl.doubtnut.com/l/_lnQfPblJqCGz

56 ,
A. ?sq. unaits

28 ,
B. —sq. units

9

56 ,
C. ?sq. units

28 ,
D. ?sq. units

Answer: A

o Watch Video Solution

22. The area of the region bounded by the
parabola y = z° 4+ 2 and the linesy =x,x = 0

and x=3is


https://dl.doubtnut.com/l/_lnQfPblJqCGz
https://dl.doubtnut.com/l/_QNUPf8iBQXGE

A. 2 $q. units

B. —sq. unit
5 S units

21 ,
C. > $q. units

15 ,
D. 73q. units

Answer: C

o Watch Video Solution

23. The area bounded by the

y = 2z — z* and the liney =-x is

curve


https://dl.doubtnut.com/l/_QNUPf8iBQXGE
https://dl.doubtnut.com/l/_1xIoYq3ulRXf

A. 2 $q. units

B. —sq. 1t
5 $q. units
C 4 1
. —38q. units
3 q
19 ,
D. —sq. unaits
6
Answer: b

° Watch Video Solution

24. The area bounded by the parabola

y = 4z — z? and X-axis is


https://dl.doubtnut.com/l/_1xIoYq3ulRXf
https://dl.doubtnut.com/l/_o6GnO4jfRmyA

A. —sq. units
3 q

B. —sq. units

3

16 ,
C. —sq. unats

3

32 ,
D. —sq. unaits

3

Answer: d

° Watch Video Solution

25. Find the area enclosed by the

a32+y2=25

circle


https://dl.doubtnut.com/l/_o6GnO4jfRmyA
https://dl.doubtnut.com/l/_eoNhm6JTTXeJ

A. 507sq. unaits

B. 257sq. units

C. 5msq. units

D. 107sq. units

Answer: b

° Watch Video Solution

26. The area bounded by the ellipse

b’z? + a’y? = a®b s


https://dl.doubtnut.com/l/_eoNhm6JTTXeJ
https://dl.doubtnut.com/l/_QewKG2gCDAVl

A. Tabsq. units
B. 2wabsq. Units

7T .
C. Eabsq. units

U

D.
32

absq. units

Answer: a

° Watch Video Solution

27. The area bounded by

2 2
Y
+ —

4 "5 P

the

ellipse


https://dl.doubtnut.com/l/_QewKG2gCDAVl
https://dl.doubtnut.com/l/_eIhBYVn480Nu

A. 21sq. units

B. 5sq. units

C. 20msq. units

D. 10msq. units

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_eIhBYVn480Nu

